Mat# Last E2p? (O:nein, 1:ja, 2 beides) Bonus TD Note TD Note TD2p
299 0 0 nicht bestanden| -
392 0 1 10 0 -
439 0 1 33 0 -
548 0 1 nicht bestanden| @ --—---
814 0 1 300 -
852 0 1 27 0 -
865 0 0 nicht bestanden| -

1003 0 1 nicht bestanden| @ --—---
1376 0 1 10 0 -
1381 0 1 10 0 -
1481 1 e [ 1.0
1677 0 1 nicht bestanden| @ --—---
1713 0 1 23 -
1747 0 1 200, -
1840 0 1 23 -
2044 0 1 nicht bestanden| @ --—---
2063 0 0 nicht bestanden| -
2261 0 1 10 0 -
2275 0 1 33 -
2346 0 1 10 0 -
2468 0 0 nicht bestanden| -
2754 0 1 nicht bestanden| -
2909 0 1 10 0 -
2952 1 o | - nicht bestanden
3032 0 0 nicht bestanden| -
3371 0 1 13 -
3398 0 0 nicht bestanden| -
3441 0 1 i10f 0 -
3940 1 i nicht bestanden
4016 0 1 10 0 -
4178 0 1 nicht bestanden| -
4571 0 1 106 0 -
4783 0 1 .71 -
4868 0 1 13 -
5273 0 0 nicht bestanden|  --—--
5317 0 0 nicht bestanden| -
5339 0 1 10 0 -
5362 0 1 33 0 -
5517 1 i 3.7
5518 0 0 40f -
5697 0 1 nicht bestanden| -
5787 1 e [ 1.7
5907 0 1 10 0 -
6183 0 0 nicht bestanden| -
6188 0 1 71 -
6345 0 0 nicht bestanden| -
6383 1 o | - 3.0
6401 0 0 nicht bestanden| -
6435 0 1 200 -
0 0

6497

nicht bestanden




6651 0 1 71 -
6775 0 0 nicht bestanden| -
6933 0 0 nicht bestanden| -
7090 0 1 G
7118 0 0 nicht bestanden| -
7207 0 1 nicht bestanden| -
7211 0 0 40f -
8407 0 1 nicht bestanden| -
8430 0 1 10 0 -
8450 0 1 nicht bestanden| -
8483 0 0 nicht bestanden| @ --—---
8568 0 1 .71 -
8977 0 1 3 -
9189 0 0 nicht bestanden| -
9453 0 1 71 -
9895 0 0 nicht bestanden| -
9950 0 1 10 0 -
10074 0 1 10 0 -
10407 0 1 nicht bestanden| @ --—---
10627 1 o | - 2.3
10676 0 0 nicht bestanden| @ --—---
10727 0 1 27\ 0 -
10731 0 0 nicht bestanden| -
10784 0 1 27\ 0 -
11039 0 1 300 0 -
11132 0 0 nicht bestanden| -
11522 1 I nicht bestanden
11537 0 1 10 0 -
12099 0 1 10 0 -
12243 0 0 nicht bestanden| -
12262 0 1 10 0 -
12313 0 1 10 0 -
12351 0 1 1.7 -
12460 0 1 nicht bestanden| -
12510 0 0 23 -
12850 0 0 nicht bestanden| -
12899 0 1 10 0 -
13250 0 1 23 -
13496 0 1 30f 0 -
13637 0 0 nicht bestanden|  --—--
13937 0 1 nicht bestanden| -
14019 0 0 nicht bestanden|  --—--
14499 0 1 nicht bestanden| -
14750 1 i 1.0
14917 0 0 nicht bestanden| -
15004 0 1 27 0 -
15133 0 1 0 0 -
15217 0 0 nicht bestanden| -
15280 0 0 nicht bestanden| -
15523 0 1 27 0 -
16297 0 0 nicht bestanden| -
17347 0 0 nicht bestanden| -
17459 0 1 ICTC] I
17590 0 1 27 0 -
0 0

17649

nicht bestanden




17915 1 i 3.3
17957 0 1 3.7 -
17980 0 0 300 -
18199 0 0 300 -
18278 1 o | - nicht bestanden
18502 0 1 0 0 -
18585 0 0 nicht bestanden|  --—--
18998 0 1 nicht bestanden| -
19949 0 1 40 -
20112 1 I nicht bestanden
20128 0 1 (0] I
20147 0 1 nicht bestanden| -
20397 0 0 nicht bestanden| @ --—---
20490 0 1 A
20903 0 1 10 0 -
21200 0 1 .71 -
21238 0 1 nicht bestanden| @ --—---
21510 0 1 40 -
22282 0 0 nicht bestanden| @ --—---
22476 0 1 G 1
22773 0 0 nicht bestanden| @ --—---
23661 0 1 nicht bestanden| -
23906 0 0 nicht bestanden| -
24100 0 1 40 -
24110 0 0 nicht bestanden| -
24896 0 1 300 -
25821 0 0 3.7 -
26043 0 0 nicht bestanden| -
26161 0 1 13 -
26208 0 1 10 0 -
26941 0 1 10 0 -
27130 0 1 10 0 -
27304 0 1 23] -
27361 0 1 R
27540 0 1 nicht bestanden| -
27741 0 0 nicht bestanden| -
29993 0 0 nicht bestanden| -
30676 0 1 27 0 -
30793 0 1 23 -
31160 0 0 nicht bestanden|  --—--
31620 0 0 nicht bestanden| -
31850 0 0 401 -
31992 0 0 nicht bestanden| -
32138 0 1 nicht bestanden|  --—--
32158 0 1 10 0 -
32270 0 1 40 -
32290 0 1 270 0 -
32572 0 1 10 0 -
32656 1 e [ 3.0
32891 0 1 nicht bestanden| -
33490 0 1 R
33870 0 1 nicht bestanden| -
34149 1 e [ 2.3
35142 0 0 nicht bestanden| -
0 0

35239

3.7




35244 0 0 nicht bestanden| -
36116 0 0 nicht bestanden| -
36708 0 1 3.7 -
37151 1 e [ 1.0
37453 0 1 27 0 -
37457 0 0 23 0 -
37575 0 1 71 -
37978 0 0 nicht bestanden| -
38010 0 0 nicht bestanden| @ --—---
38951 0 0 nicht bestanden| -
40898 0 0 nicht bestanden| @ --—---
41481 0 0 nicht bestanden| -
41556 0 1 10 0 -
41780 0 1 .71 -
42088 0 0 nicht bestanden| @ --—---
42220 0 1 A
42840 0 0 nicht bestanden| @ --—---
42924 0 0 nicht bestanden| -
43011 0 0 3.7 -
43030 0 1 33 -
43241 0 0 nicht bestanden| @ --—---
43631 0 0 nicht bestanden| -
43646 0 1 nicht bestanden| -
43716 0 1 27\ 0 -
43862 0 0 3.7 -
44242 0 0 nicht bestanden| -
44280 0 0 nicht bestanden| -
44456 0 1 10 0 -
44742 0 1 i10f 0 -
45387 0 1 200 -
45567 0 1 33 0 -
45622 0 0 nicht bestanden| -
45904 1 i I 2.7
45961 1 i 3.7
46240 0 1 13 -
46318 0 1 nicht bestanden| -
46540 0 1 nicht bestanden| -
46593 1 i 3.7
46712 0 0 nicht bestanden| -
47466 0 1 10 0 -
47863 0 1 4
48512 0 0 nicht bestanden|  --—--
48543 0 0 33 0 -
50000 0 1 .71 -
50328 0 1 200 -
50648 0 0 nicht bestanden| -
50936 1 e [ nicht bestanden
51776 0 0 nicht bestanden| -
52193 0 0 nicht bestanden| -
52433 0 0 nicht bestanden| -
52518 0 1 0 0 -
52537 0 0 10 0 -
52625 0 0 401 -
53030 0 1 3 -
0 1

54044

nicht bestanden




54254 0 0 nicht bestanden| -
56326 0 1 33 0 -
56698 1 o | 3.7
58001 0 1 270 0 -
58232 0 1 33 0 -
58352 0 1 300 -
59447 0 0 3 -
59540 0 1 200 -
60459 0 0 nicht bestanden| @ --—---
61555 0 1 i0f 0 -
61639 0 0 nicht bestanden| @ --—---
62631 0 1 200 -
62651 0 1 10 0 -
63601 0 1 10 0 -
64411 0 1 271 -
64587 0 1 A
65274 0 1 i10f 0 -
67049 0 1 nicht bestanden| -
68438 0 1 23 0 -
68658 0 1 .71 -
69631 0 0 27 0 -
69889 0 0 nicht bestanden| -
70231 0 0 nicht bestanden| -
70816 0 1 33 -
71374 0 0 nicht bestanden| -
71569 0 1 40 -
72171 1 o | - nicht bestanden
72550 0 1 nicht bestanden| -
73219 0 1 nicht bestanden| -
73219 0 0 200 -
73649 0 0 40 -
73820 0 0 nicht bestanden| -
73942 0 1 nicht bestanden| -
74019 0 1 40 -
74216 0 1 1.666666667| = ---—--
74233 0 1 200 -
74254 0 1 106 0 -
74540 0 0 nicht bestanden| -
75215 0 1 106 0 -
75442 0 0 nicht bestanden|  --—--
76845 0 0 nicht bestanden| -
76902 0 1 10 0 -
76917 0 0 nicht bestanden| -
77584 0 1 33 0 -
77591 0 0 27 0 -
77680 0 0 nicht bestanden| -
77962 0 1 200 -
78236 0 0 40 -
78400 0 1 ICTC] I
78428 0 0 200 -
78429 0 1 0 0 -
78541 0 1 10 0 -
78589 0 1 0 0 -
79413 0 1 nicht bestanden| -
0 0

79854

nicht bestanden




80017 0 1 27 0 -
81023 0 0 nicht bestanden| -
81031 0 0 nicht bestanden| -
81351 0 1 nicht bestanden| -
81493 0 1 3 -
81780 0 1 nicht bestanden| -
81792 0 1 3 -
82259 0 1 270 0 -
82264 0 1 nicht bestanden| @ --—---
83836 0 0 33 -
84307 0 1 71 -
86302 0 1 10 0 -
86620 0 1 (0] I
87380 0 0 33 -
88149 0 0 nicht bestanden| @ --—---
88562 0 0 nicht bestanden| -
88575 0 0 40 -
88666 0 1 nicht bestanden| -
89033 0 1 3.7 -
89601 0 1 i0f 0 -
89879 0 0 10 0 -
90647 1 o | - nicht bestanden
90651 0 0 13 -
91012 0 0 nicht bestanden| -
91090 0 0 nicht bestanden| -
91807 0 1 27\ 0 -
92060 0 1 10 0 -
92267 1 o | - nicht bestanden
92450 0 1 27 -
93490 0 1 10 0 -
93589 0 1 3.7 -
93906 0 0 10 0 -
94056 0 0 40 -
94402 0 1 .71 -
94686 0 1 4
94713 0 0 nicht bestanden| -
94872 1 o | - nicht bestanden
95850 1 o | - 3.3
95920 1 o | - nicht bestanden
96840 0 1 23 -
96887 0 0 30f 0 -
97229 0 0 nicht bestanden|  --—--
97430 0 0 nicht bestanden| -
97519 0 1 .3 -
97627 0 0 nicht bestanden| -
98769 0 1 .3 -
99458 1 e [ 1.0
99496 0 0 nicht bestanden| -
99566 0 1 200 -
99585 0 0 nicht bestanden| -
99628 0 1 nicht bestanden| -
0 1

99797

3.0








































